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13. Sketch the function without using a graphing calculator. Find the domain and range of each function.

-x’ +4, x<2
a. f(x)= éx—-3, 2<x<4
x-4, x=4

D (-0,

—o0 ,0)
3 goe e wa@b Ri -2
’ % \A . A L QW iy

15. Use the algebraic definition of absolute value to rewrite f(x) = |3x - 2|+1 as a piecewise function and

then sketch each graph.

QM_ Fx-o4) = 3x-] W§3x-270, 7<7//3
3k 424 = 3 %43 [xel
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A= %*33 16. Describe each transformation in terms of the parent function and then graph the function. State the
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17. Determine algebraically if the following functions are even, odd, or neither
3
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27. Graph the following using a minimum of 2 points. For each graph, state the domain, range, intercepts,
and the equations of any asymptotes.
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29. Graph the following using a minimum of 2 points. For each graph, state the domain, range,

coordinates of any holes or intercepts, and the equations of any asymptotes.
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In 30 - 40, factor each completely if possible.
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